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frder /INSTRUCTIONS
1. T 99 ¥ ¥ <& 91T & 3N anusl eF 9r & Wl U g &R B

This question paper contains two parts. You have to answer all questions in both the parts.

2. 9t g v # O wve & R wer 30 we | we W 01 ¥ 10 OF B & AP U U,

11 ¥ 20 73T @ o afe Of U ud 21 ¥ 30 96 & Ul & Ui 3iF ufd U B |

Part "A" Mathematics has three sections containing 30 questions. Q. Nos 01 to 10 carry 02
marks each, Q. Nos 11 to 20 carry 03 marks each and Q. Nos 21 to 30 carry 05 marks each.

3. WAT “§ AN AFgar e ¥ G €6 U § | U 01 Ud 10 B 15—15 3 § Td U¥T 05 3R
07 @ 0505 & ¥ | Wfd Wl wedl & 10-10 3 ¥ | TH AT S SR A A A g g

s | 4§ & o wad

Part "B" Language Ability Test contains 10 questions. Q. Nos 01 and 10 carry 15 marks each
and Q. Nos 05 and 07 carry 05 marks each. The remaining questions carry 10 marks each.

In this part you can write your answers in any one of the chosen languages.

4. MY IO IR el /Bren Wel A B ford | Ui 5 7 ford

Write your answer in Blue/Black ink only. Do not use pencil.

5. ¥ SR & A S W BN |
All Rough Work is to be done at space provided.

6. U U UH H ot 24 TS T
There are total 24 pages in the question paper.
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Qft.

Q2.

Qs.

Q4.

qET ‘3 Ta / PART "A" MATHEMATICS

guTid / Max. Marks : 100
©Ug—1/ SECTION 1
(I&H T JT 3G & o)

(Each question carries two marks)

2% ﬁﬁrﬁtﬂ'ﬂﬂ% o =ma fefore

Find 5 of 21 Kg.
7 3.

fr=foRag TRl o S9% ded o9 | folRay —
Arrange the numbers in ascending order -
613997, 514037, 514245, 631460

fafofaa dwgme o 9<Mies | agal |
Convert the following into cm.

5 ggeriiey 5 hectomatres

7 SHMER 7 decametres

4 HieR 4 metres

3 fFarer 3 kilometres

wa:;&%ﬁsooﬁ%sm%cﬁﬁmﬁﬁqaﬁvﬂgsoeﬁﬁﬁaﬁﬂﬁw,w
sl gM & fow e ol oty s SRR

A boy scores 30% marks out of a total of 500. He fails by 50 marks. What is
the pass marks?



Q5. a%wﬂaﬂﬁwgavgﬁaﬁww

g2

If Ram has to travel 14 Km to reach his school from home, what is the total
distance that he has to

travel to go to school and come back?

Qs. ma%wa4zooo/~e}aﬁqmwmm % T AR B 2 Ry aly
gwﬁmﬁ@ﬁ%ﬁmzmﬁwﬁwmaﬂW?

2 ‘
Ramesh had Rs 42,000/-. He gave 71 Part of this amount to Mohit and 3

-7_— bart
to his mother. How much money is left wiik Ramesh?

Q7. FfH #rag oy

Simplify the following -
25+16-8x4 0

Qs. amsa%qgﬁ1ogrﬂ?faﬁweﬁw%€%ﬁﬁq~

Find the average of first 10 multiples of 5 -




Q9. f=ifesa RE § ZBOE w ZCGF 9@ 3o/ |

Finga ZBOE and LCGF from tne following figure :
E

150°

Q10. T& I &7 Yot 8 Alex © :wﬁﬁm@é@?wmﬁﬁwmwa
TRAE BT T B85S Sa DIG?

The side of a square is 8m. The same square is divided into four equal
squares. Find area of each smali square?

o
: ‘%&9_;‘-. B
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Qit.

Qi2.

Q183.

Q14.

Yus—il / SECTION — li
e uw @ i B 2)
(Each question carries three marks)

ﬁw%@aﬁawmmﬁm%?

Find the square root of the following ii—i ?

@WWW$@H250WWW§@@%,W®W@WTHW
SATST U1 BT | S BT STelT—3/eRT R ST IR |

Ramesh and Suresh divide Rs. 250 in such a way that Ramesh gets 4 times
the share of Suresh. Find the share of both.

NP AR Rl et owig 30 Hex T M 17% Mex ¥ 38 oof w9 @
216 Alex X 2 Hrex 87 : :

How many rectangular tiles of 2%4m x 2m are required for tiling a rectangular
courtyard of 30m x 17%em ?

U PR Ugel B H 58 50, @ 6 ¥ 62 Rl Tom AR w5 N 75 ol wer)
& FR B i TR ST AR |

A car travels 58 kms in the first hour, 62 kms in second hour and 75 kms in
the third hour. Find the average speed of the car.



Qis.

Q16.

Q17.

Q18.

TS I OIS I &5kl 616 A B | U @ URE S0 S |

If the area of a circular park is 616 m?, find the circumference of the park.

W F %. 3000/ — Wrmﬁﬁsmﬁaﬁmmﬁﬂ@wmmﬁ
% ¥ 918 e oF Ul BN 7

Shyam deposits Rs.3000/- in to his Bank account which earns him a simple
interest of 5% per annum. What is the amount that he will get after one year?

S%ﬁwmﬁmﬁqﬁssgmﬁr?

What should be added to 3% to get 5% 2

frifra R ¥ x & gou o1 @Y —
Find the value of x in the following diagram :
A

45




Q19. wa Sfafde @ 6750 /— § @I AT 3N . 500,/— © AT U 99 TAT] 90 A
Ugal ISP Slh HRaM B Y B. 350 /— @d By WG| IE e vuy F d=r W
S BN | ' :
A TV is bought at Rs. 6750/- and sold at a profit of Rs. 500/- after spending
Rs. 350/- on its repairs. Find the Selling Price.

Q20. iy © WIS 7 YT & SFRIS | 10 D] Sfer do ! MY | SuH ¥ .
350 /— W9 Y oA | IR 9D U F[A fhad UU UY T 7 (01 D! SfeR
= 68 BU) _

Mithun's brother sent him 10 US dollars from America. Mithun used Rs. 350/-

from this amount. How much money (in Rupees) is left with him? (1 US dollar
= 68 Rupees).
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=uvs—|ll / SECTION — Il

(% UIH U9iF 3@ @ ?)

(Each question carries five marks)

Q21. 2 7 B3 # IR BC = FG &1 a1 AH &1 om, 23 ™ B @7 uRe" &k

B T BN |
If BC = FG in the given diagram, find value of AH, perimeter and area of the
given shape.
12 Cm
C « » D
A
4 Cm
A i0Cm B
. S ——_
16 Cm
H G
F E W g

Q22. < TR ¥ R T 450 o B O W &) TP W I RIH W 740 991 G 50
ot/ o wer & IR e § ok 9§ g 45 Be © R vedt ) 8
g B WR 1T gof gl ?
Two cities A and B are 450 Kms apart from each other. A bus starts from ‘A’

at 7:40 AM at a speed of 50 km/hour and it has a total stoppage time of 45
mins. What time will it reach station ‘B’ ?
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Q23.

Q24.

Q25.

UG 6T QU el 9 38 e ) afl Wi wwaml @ AR ss § o wemd
ST BIFTT |

One number exceeds another number by 38. if sum of both numbers is 88,
find the numbers.

U AIATPR Ui Bl oW s 0.410 freriiex 2 ok swe Ao 70 v 2|
T TRE e ¥ o1 BN | R U8 &7 I R FieaR IR § R a9ET & 3R
U A HICAR TR BT 7o 340 8, T U BI SR AT BT o 1T ARG

The length of a rectangular park is 0.110 km and iis breadth is 70m. What is
the perimeter of the park in meires? Three rounds of barbed wire are needed

to fence the park. Find the cost of fencing the park if the barbed wire costs Rs
3.40 per metre.

W?ﬁ?aﬁaﬂﬁ@rs%uﬁa&ﬁﬂﬁé@mﬁélﬁzmﬁwaﬁ
STIRIEAT 89,250 & qT 2015 H SR & Swen fhaeh off ?

The population of a city increases 5% per annum. If in 2016, its population is
89,250 what was its population in 2015.
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Q2e.

Q27.

Q28.

dfa Tredt o Ad R 13 a9 2| TP SfRed oo & 9o © 99 JNT Y
12 99 € odl 8| S DRI T a1 # oW arel dhe® @1 o1y feba 87
The average age of five boys is 13 years. One more boy joins them and the

average age becomes 12 years. Find the age of the boy who joins the group
later?

aferer 3 125 2f@i # W 60 id UKy fHy, TP sifha o 280 3l @ AN H A fa
140 3 T By, O T PR RGwT vees 98ar a7 iR & ?

Anil got 60 marks out of 125, Ankit got 140 marks out of 280. Whose score is
betier and why?

T T o o 6 SR TS 3 AW Al ST 3 ¥ & T Tm B ) 4o 6
T 21 5T ST & foaer argas wreT 8, iR fhaar ?

A Cuboid is 6 cms long, 3 cms broad and 3cms high, while a Cube has an
edge of € cms. Which has a greater volume and how much?
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Q20. TF Tig B Ho STHAET DI %a‘f%ﬁﬂaﬁ%%mﬁwfmﬁ@aﬁﬁ%ﬁ
T 3450 &, 1 TG @Y ol SITEEAT ST HITY?
;Si part of a village population is uneducated. If the number of educated is

3450, find the population of the village?

Q30. o= =fdedr 12, 153ﬁ?18fﬁﬂ€$mﬁm%|ﬁawﬁﬁ:mﬁ 10:30
ﬁm%,ﬁ&mmﬁﬁwwa@ﬁl

Three bells ring at intervals of 12, 15 and 18 minutes. They rang together at
10:30 AM. When will they ring together next ?
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HIT §' WIS Iad/PART "B” LANGUAGE ABILITY
quiieh/Max. Marks : 100
Q.1 fy=fafeae ey & @ fod ve w 15 g foRae — (15)
Write 15 sentences on anyone of the following topics :

< W #RT U7 SR / My favourite TV programme
31qdar / OR
89 39 TR0 @) AR BN @)/ How did | prepare for this exam

.......................................................................................................................................

e e LR L L R R R T e PR R S

.......................................................................................................................................

.......................................................................................................................................

........................................................................................................................................

B P VR

.......................................................................................................................................
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........................................................................................................................................

.......................................................................................................................................
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........................................................................................................................................
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.......................................................................................................................................
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.......................................................................................................................................
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Q.2

FrefaRaa Teier o ergds ug ok ara § Ry U yeat @ Sov R | (2x5=10)

qE ASH TP BN oI GRR & UM I8 AT| S Siedl-wied] B8 urr
IEgETR AR B — weileT SOt oM oM W TNl g5 R tze & 96 3€ TeR
WW@WWW@MWWWEM#WQMHWﬁWﬁ
@1 e RaE ok Teurinds sl & vvd) w Tt wvd # we ) e @ 9w
¥ URR W Gl @ Gl SEY TR B Rve fawr widi sk 9% aifet Ridre o
AR ) AT # 9 @B YA A oFaT| Sue aR e gwy waRe A
Y- B H GI gY | BUT N W BT A1 3R I 9T I g &) =T o]
AT & T AR %S Rwr 3 W 97 O a@R A AR TR R $ev e
mlwwmqmﬁim“ﬁﬂﬂaﬂqﬁmmwﬁﬁﬁaf%mfﬁmﬁm
warer gl o

7.1 SS®T Bal W &8 T ?

g2 a@%ﬁwmﬁo—ﬁﬁﬁmm?

SiSitTrEmEasstsesessessstemranseassuscesseoishianuioy ac e BRI o vse e e e e I L eeseessedanc e et b aas

U3  Ts® 4 2 9 gl W @&y fear ?
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74 ED BT T 9 & 9T SHBT SH HT & ?

U5 91 SASHT IR BT HM FIAT UG bRl AT ? TS 91 BN gar gy 2 ?




Read the following passage carefully and answer the questions that follow: (10)

Once upon a time, not so very long ago, there was a small boy named Hari. Although
he wasn't very big, he was strong, and he loved to tease all the boys and girls who went to
school with him. What he loved to do the most was to pinch. He could make a big bruise
appear in half a second. Another trick he played was pricking people with a pin.

So you can guess how all the children hated him. They tried pinching him back, but
that was no good because he could always pinch harder. They didn't like telling his teacher,
because it was like telling tales.

it so happened that the class went for a picnic to the seaside for a whole day. All the
children were most excited.

On that day, the sun shone bright, and all the children were wild with excitement.
They crowded into the train and sat down — but nobody wanted to sit next to Hari because
he always pinched.

(a) What did Hari do to boys and girls who went to school with him? (2 marks)

(b) What he loved to do the most ? (2 marks)
(c) What happened to Hari when he went for the picnic ? (2 marks)
(d) Give meaning of these words : (3 marks)
(i) Bruisé . TN e P e e S i
(i) Prick. - ol e e v T e
(iif) Crowded- ° SoiFtet sl ae s orRrombeead Koa LTk,
(e) Where did the class go for a picnic ? _ (1 mark)

..........................................................................................................................

..........................................................................................................................



Q3 i e wsl @ FETET 99 SO S8 IR WK S| (5X2=10)

oA o RO T e e TR
SRR B e s 00 SO
@ &=
e o s el v o I UG O SN O R )~ <.
fESecm e . e Sl T ST, ), N
2]
AR T R T W, o @ 0 NN
SRR e o B
(S SRR M e e S
TROG -t el 0 o © AR TR R
Use the given words in separate sentences of your own to show the difference
in the meaning of the words of the pair given below : (5x2=10)
(a) SEERb .. . R e OISR TR e
274 B il | N URCE M (PRSI R T T,
(b) Oreak 4. 0a W it R L
Sl TN g et S e O SRS S SR
(c) i "IN BRI i S DR
BB nvienn amis mssimmsc cociimonsoon S e RN S SO o MO ¢ 5o "
(d) RSO, ... stenivosssssiiaico it ns g SO CNNE O -~ L oo
IO mt e PR et s S L R
(e) HEATE R S e N R e o R
Here

..............................................................................................................
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Q.4

Q.5

ey 17 s wE! &1 39 @ e aipf g g9
IWT /B /AW /[ W\ /B

@)
(=)
()
=)

)

Rearrange these words to make meaningful sentences :

(@)
(%)
()
(d)

(e)

|/ B/ s / Ber /B /¥ / 9|/ e

g / ABAd / Foil / IR /B /&

rained / yesterday / it / heavily

...........................................................................................................................

...........................................................................................................................

..................................................................................................

.............

...........................................................................................................................
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Q.6

Q.7

Give one word substitutes for the following : : (5x1=05)
(&) One who is unmarried

- Onewmbehevesmem .............................
s Incapab;eofbemg S Oh,ed ..................................................................................
5 One Who |0 Oksa”hebr,ghterS,deofthmgs ......................................................

(e} A person who writes songs

............................................................................................................................

Grell ¥l 51 Sfaa wsg 9 g1 $%1 | (5%2=10)
(@) BHdS T L Ul @/ m)
(B T i, O W T T - GVA:))
() TP Ea T i i (@ar g /i €)
@) S I W [T, § D U s & | (STHR / UFR)
(€) oIFd IS UR 95X ol i M 8l ®"R/FHY)
Choose the correct word given in the brackets and fiil in the blanks : (5x2=10)
(a) The police nabbeda .........ccccoeevivennnenen dacoit last night. (famous/ notorious)
(b) Madhujg X™....c.c.......in. only daughter of her parents. (aﬁ /althe)
(€). . AbgclOWn went ......................... the ring of fire.- (in / through)
(d) o RRbOY didnot o..ccviioniiiiiis. to his class. {go / went)
(e) Neither of these two books .........cccoeeeeeereeennnn.. interesting. (are /is)
1 foe ussl @ wafaar v o (5>¢1=05)
fElasami s - T e o E
ey B L A e

P e R R Lt R N

2] R e 0 D R SRR
Sl e e . e R
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Q.6

Q.7

Give one word substitutes for the following : (5x1=05)

(&) One who is unmarried

- OnewmbehevesmGOd .............................
i Incapab;eofbemg Sowed ..................................................................................
- OneWho |0 Oksa”hebr,ghterS,deofthmgs ......................................................
o Ape rson Whowntessongs ................................................................................
Tt ¥l S Sfad e | g Bl (5%2=10)
(@) Tl wum e s S s Ugd S| # /W)
i IR W g Pt )
(M TouF e T T oS I (@aT g /i €)
(@) BT TH R oinmingh far, § Sue Ul aw €| (SUBR /AUeR)
(€) DBIUA VS W ST ot g R R (R T
Choose the correct word given in the brackets and fill in the blanks : (5x2=10)
(a) ‘The police RARDEIM -&utimsmsiviisismimns dacoit last night. (famous/ notorious)
(b) Madhu is ....... ...................... only daughter of her parents. (aﬁ [ althe)
(c). Rhig oW went ... the ring of fire.- (in / through)
(d) .o Na¥Doydidnet .. il v to his class. {go / went)
(e) Neither of these two books ........cccoveeeeereeennnn.. interesting. (are /is)
A e vl @ vafgarl s fod (5>¢1=05)
(7 A o S TR e
EEEEE L e L S R e o
SUSNASIRE o e e L SO R e

I e o

€ s R SO R
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Q.8

Q.9

Give the synonyms of the following words : (5x1=05)
(a) Former
(b) Profit

(c) Faler. . . o el L AR e e U e B e R e
(d) Occur e A e T e S
(e) Talesetded™ = ( TN S TR K e R e e
= faa wssi & faaim s fod | (5%2=10)
o S v R e SR s i e
(@ pad b ¢ O Ehhoit TP,
(15 A= e oA G s - e s DD i

=)

(S BN b S S e S ORI T
Give the antonym (opposite) of the foliowing words : © (bx2=10)
(a) Fall o T R s - R My T e i e

(b) interested

(c) Lenient

(d) Proud

(&) Pleasant

i o gl @ fuaR 59 o fod | | (5%2=10)
(@) o 987 & %@y 2 (Freraras areg )
(@) w1 gA F @ e for @ 7 (Rem= aras arr #)
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Q.10

€) ORI ¥ URT =R 9% B} | (e aras are )

Erera el e (5x2=10)
(@) He writes a story. (Change into Interrogative sentence)
(b) | expected him to'do the work. : (Change into Negative)
(©  Willshe doit ? (Change into assertive)
(d) He has no interest in cricket. (Change into affirmative)

(e} | met him with my friend in the park yesterday. (Change into Simple Future Tense)

...........................................................................................................................

3T a5 & iR 16—dl, Dol svelg, 7% Reel # B4 2| 3MUs Il 3 Suh
e TR UH JUBR 9Tl ol 3UH IS B I8 90Kk gV UF 0¥ forar i a8
JUER MU forg fhaer SRl &k fasiy 2 (15)
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.................................................................................................................................................................................

................................................................................................................................................................................

You are Vijay and you live at 16-B, Kailash Enclave, New Delhi. Your uncle has sent
you a present on your birthday. Write a letter to thank him and tell him how his

present is very useful and special to you. (15)
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